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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 747 9539 [ Zh s | 000 ~ 0.00]| 1.70 9.08 Thns 1.00] 5.00 ~ 9.90 9539 | Zh s | 500 ~ 990 1.70 9.08
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 7.28 9276 | #hus | 000 ~ 7.28 | 1.85 9.90 Fhst 100 | 500 ~ 950 9276 | #hiis | 500 ~ 950 | 1.85 9.90
5 100kN/M#E#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 7.28 9276 | #h s | 000 ~ 7.28 | 1.85 9.90 Fhst 1.00| 500 ~ 950 9276 | hkis | 500 ~ 950 | 1.85 9.90
4 100kN/M#ZEH#B % % - -~ - —|3mEHBZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ — — —
Zh st 1.00 | 000 ~ 7.26 9250 [ #hist | 000 ~ 726 1.79 9.60 Fhst 100 | 500 ~ 930 9250 | #hiist | 500 ~ 930 | 1.79 9.60
5 100kN/mM#Z#B % % — -~ - —|3mEHBR S -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ — — —
Zh st 1.00 | 000 ~ 6.86 86.81 | #h s | 000 ~ 6.86| 1.94 10.36 Thst 100 | 500 ~ 9.05 86.81 | hiust | 500 ~ 9.05| 1.94 10.36
6 100kN/M#EH#BZ % — -~ - —|3mEHBZS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 5.72 7148 | Zhist | 000 ~ 0.00 | 1.69 9.07 Zhst 100 | 500 ~ 6.40 7148 | Zhiist | 500 ~ 6.40| 1.69 9.07
; 100kN/mM#E#B %% - -~ - —|3mEHBEZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ — — —
Zzh st — — ~ — —| EhLst — ~ — — — Zzh st — — ~ — —| Ehus — ~ — — —
g 100kN/M%EH#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st — — ~ — —| =hLst - ~ — — — Zh st — — ~ — —| Ehust — ~ — — —
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~

B
H
&L



